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QUESTION 1

You hired a female employee on January 1, 2015. This employee got married on June 12, 2015. You received a request
from the employee on July 11, 2015 to change her last name from the date of her marriage. You changed the last name
of the employee as requested on the same day.

What effective start date for this new employee is displayed by the system as of August 15, 2015?

A.January 1, 2015

B. June 12, 2015

C. July 11, 2015

D. August 15, 2015

Correct Answer: B

QUESTION 2

Your organization has decided to implement Position Synchronization for a section of workers. At what levels can you
configure this feature?

A. Enterprise HCM Information, Division, and Department
B. Legal Employer, Division, and Business Unit

C. Enterprise HCM Information and Legal Employer

D. Legal Employer, Division, and Country

Correct Answer: A

QUESTION 3

Your customer is hiring an employee and assigning a line manager to the newly hired employee. What group of people
can be selected in the instance as an employee\\'s line manager?

A. The line manager search is based on the public person security access.

B. The line manager search is based on the job in which the employee is hired; only the job grade higher than the
employee job will appear in this list.

C. The line manager search is based on the position hierarchy. Therefore, if an employee is hired in a particular
position, the search will populate employees with a higher position than the newly hired employee.

D. All the employees whose employment record has the "Working as Manager" check box marked as "Yes" can appear
in the drop-down list.

Correct Answer: C
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QUESTION 4

As an HR Administrator, you are responsible for entering Pending workers into Oracle Global Human Resources Cloud.
Identify the three options that are correct for the Pending worker.

A. A person number is associated with a Pending Worker.

B. An employee number is associated with a Pending Worker.

C. A person who already has a person record cannot be a Pending Worker.

D. This is a person for whom you create a person record that is effective before the hire date.

Correct Answer: ACD

QUESTION 5

A candidate applied for an employment opportunity with a legal employer in the past. The candidate reapplies after
some time for an opportunity with a different legal employer in the same enterprise. While applying the second time, the
candidate provides a new national identification value.

Which option does the application use to check if a matching record already exists in the system?

A. The application cannot identify the matching record and there will be two person records available for further
processing.

B. The application identifies a match if the first name, the first character of the last name, and date of birth are the same;
or if the last name, the first character of the first name, and date of birth are the same.

C. Because the national identifier has changed, the system cannot identify the matching record.
D. The application searches for the availability of date of birth and middle name to identify the matching record.

Correct Answer: B
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